Supplementary Table S1. The effect of ICT impact factors on reading proficiency without USESCH.
	Factor
	Model 1
(PV1READ)
	Model 2
(PV2READ)
	Model 3
(PV3READ)
	Model 4
(PV4READ)
	Model 5
(PV5READ)
	Model 6
(PV6READ)
	Model 7
(PV7READ)
	Model 8
(PV8READ)
	Model 9
(PV9READ)
	Model 10
(PV10READ)
	Mean

	
	β
	β*SD
	β
	β*SD
	β
	β*SD
	β
	β*SD
	β
	β*SD
	β
	β*SD
	β
	β*SD
	β
	β*SD
	β
	β*SD
	β
	β*SD
	β
	β*SD

	ICT availability

	ICTHOME  
	-4.533***
(0.363)
	-7.427
	-4.267***
(0.363)
	-6.991
	-4.813***
(0.359)
	-7.886
	-4.051***
(0.362)
	-6.637
	-4.316***
（0.369）
	-7.071
	-3.979***
（0.361）
	-6.519
	-4.494***
(0.365)
	-7.363
	-4.423***
(0.361)
	-7.247
	-4.568***
(0.364)
	-7.484
	-4.931***
(0.363)
	-8.079
	-4.438***
(0.363)
	-7.270

	ICTSCH
	-3.779***
(0.286)
	-7.300


	-3.895***
(0.289)
	-7.525
	-3.495***
(0.286)
	-6.752
	-3.734***
(0.289)
	-7.214
	[bookmark: OLE_LINK1]-3.557***
（0.289）
	-6.872
	-4.070***
（0.284）
	-7.863
	-4.101***
(0.291)
	-7.923
	-4.281***
(0.287)
	-8.270
	-3.603***
(0.288)
	-6.960
	-3.777***
(0.291)
	-7.297
	-3.829***
(0.288)
	-7.214

	ICT use

	HOMESCH
	-2.913***
(0.640)
	-2.744
	-3.390***
(0.642)
	-3.193
	-3.189***
(0.638)
	-3.004
	-3.188***
(0.633)
	-3.003
	-2.175***
（0.643）
	-2.049
	-3.009***
（0.636）
	-2.835
	-3.775***
(0.635)
	-3.556
	-1.948***
(0.641)
	-1.835
	-4.094***
(0.642)
	-3.857
	-3.584***
(0.645)
	-3.376
	-3.127***
(0.640)
	-1.2455

	ENTUSE
	-9.695***
(0.744)
	-8.605

	-8.945***
(0.750)
	-7.939

	-8.920***
(0.740)
	-7.917
	-8.584***
(0.735)
	-7.619
	-8.963***
（0.751）
	-7.955
	-8.873***
(0.743)
	-7.875
	-8.677***
(0.735)
	-7.701
	-9.244***
(0.758)
	-8.204
	-8.923***
(0.738)
	-7.919
	-9.334***
[bookmark: OLE_LINK3](0.751)
	-8.284
	-9.016***
(0.745)
	-8.002

	ICT attitudes

	INTICT
	9.700***
(0.663)
	9.071
	9.245***
(0.667)
	8.646
	10.130***
(0.658)
	9.473
	9.494***
(0.658)
	8.878
	9.672***
（0.663）
	9.045
	9.953***
(0.656)
	9.308
	9.693***
(0.667)
	9.065
	10.384***
(0.661)
	9.711
	9.888***
(0.665)
	9.247
	10.111***
(0.659)
	9.455
	9.827***
(0.662)
	9.190

	AUTICT
	23.190***
(0.768)
	21.686
	24.623***
(0.779)
	22.155
	23.062***
(0.771)
	21.567
	23.980***
(0.772)
	21.576
	23.649***
（0.783）
	21.279
	23.147***
(0.772)
	20.827
	23.436***
(0.779)
	21.087
	24.062***
(0.777)
	21.650
	23.374***
(0.775)
	21.031
	24.209***
(0.781)
	21.782
	23.673***
(0.776)
	21.464

	COMPICT
	-3.134***
(0.790)
	-2.777
	-3.295***
(0.803)
	-2.920
	-2.488***
(0.790)
	-2.239
	-3.537***
(0.788)
	-3.134
	-3.298***
（0.799）
	-2.922
	-2.686***
(0.791)
	-2.380
	-2.109***
(0.800)
	-1.869
	-4.280***
(0.796)
	-3.792
	-3.387***
(0.794)
	-3.001
	-3.847***
(0.792)
	-3.409
	-3.206***
(0.794)
	-2.844

	SOIAICT
	-15.991***
(0.710)
	-14.061
	-16.643***
(0.712)
	-14.635
	-17.016***
(0.703)
	-14.963
	-16.535***
(0.706)
	-14.540
	[bookmark: OLE_LINK2]-16.386***
（0.717）
	-14.409
	-16.075***
(0.700)
	-14.135
	-16.232***
(0.712)
	-14.273
	-16.421***
(0.715)
	-14.439
	-15.867***
(0.712)
	-13.952
	-16.041***
(0.714)
	-14.105
	-16.321***
(0.710)
	-14.351

	Student background

	ESCS
	47.941***
(0.658)
	39.390
	47.102***
(0.668)
	38.701
	47.434***
(0.662)
	38.974
	47.810***
(0.666)
	39.283
	47.351***
（0.674）
	38.906
	47.471***
(0.658)
	39.004
	47.586***
(0.667)
	39.099
	47.570***
(0.665)
	39.085
	47.886***
(0.663)
	39.345
	48.287***
(0.667)
	39.675
	47.644***
(0.665)
	39.146

	Gender
(female=0)
	-28.282***
(1.036)
	-14.140
	-27.534***
(1.042)
	-13.766
	-27.357***
(1.038)
	-13.678
	-29.330***
(1.038)
	-14.664
	-28.652***
(1.048)
	-14.325
	-28.779***
(1.033)
	-14.389
	-30.487***
(1.040)
	-15.243
	-27.743***
(1.036)
	-13.871
	-28.490***
(1.045)
	-14.244
	-26.978***
(1.045)
	-13.488
	-28.363***
(1.040)
	-14.181


[bookmark: _GoBack]Notes: N = 37,155. The dependent variable is students’ readings score. Models 1 to 10 refer to the regression models for ten plausible values of the reading score. In PISA 2015, each student has 10 plausible values of reading scores (PV1READ~PV10READ). A higher plausible value reflects the higher reading proficiency. The regression model is estimated using Equation 1. Since the independent variables are derived based on IRT scaling, with one percent change of the independent variable, the dependent variable change by the coefficient multiplied by its standard deviation accordingly (β*SD). Heteroscedasticity-robust standard errors are listed in parentheses. Signif. codes: ***p < 0.001, **p < 0.01, *p < 0.05, p < 0.1. Nosignificant coefficients (0.1 < p < 1) are presented.
